Phys BL 2023

Lochwe &

T_IME_: “Diswssion / Quiz

EX: 53,53,54, 64 45, 66,6768

Fri

Nedpr alqe‘ora With (omponarty

Nector algebra s mest conwzmenfg accomplshed  wa  yecor

— comporents .
/—*'— ‘‘‘‘‘ T o \ /—\_—_'_‘__—_——_—_’_-_‘_ﬁ\“mﬁ\
=8 3 \ .
6\\)&'1 MG V'ZC}'D[E\. A /'& \| — / 6‘1@7}' CO’MP 0’1@/‘!'1‘5, ¢ ‘3 . \"'--,\
|I‘ \)
:’\' / \ | i L &
l T A=A (o3 /

/

AJ s A on® J
lnsort SignY 487 Cppreprice

/\_:TA;A;SBK\>
Dy = o Ay ¢RBy

"“')
“H'\-U\ D= | Dx ‘*‘D &

D )

S = cuthon L Y/ Dv} ;,

&on R‘ﬁwe o) ,,//
opprop i‘l'a*s e




62 Vector addition: algebraic method, 1
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Two displacement vectors, A and B are illus-
trated. (1315p2023)

a) Determine the components of A. A
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b) Determine the components of B.
c¢) Determine the components of C=A+B.
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d) Determine the magnitude of C. 70

15.0m
Answo - gy Ay= O™

S

wsl

AS: \0. Om

= - t5c05+00

(o

—

q
x
f

= - 1S.0m ¢oc FO° = ‘S-IM

- B sia70°

e
f

S15.0 m 10707 =~ 141m

i

()
S
N
b

Fu

"

Ax4Bx = Om =-S.im = -8S,In

i

C__{(\
f

= Aj +BJ

1O 6mMm —]4,!/\4 = ~4.Im

V e e
4. C = v G

HOt = EBam)T g Lt

£ = £.5m

30



Uit  vedors

A vedor S COMPLQJF;(j Spéa’ﬂ‘ed b&I,I lish‘/\.ﬂ IS comporants . These o be
used eonshudt He o vector ala/}ﬂ wila Sflem( wuni Foveckoss. In hop
dimonsigns e we:

< L = unit vedor along x-aws \} J

I
)

j: unit vector ala/g j-axis

: SO e ']
i
\\

—
|ben oAy Nechor  can be expressed. o,

Aﬂj vector A in TWo  cumensing s “FOFM

;\: = Axt *Ajj\

whaore Ax = X~ componant oF J_& f tould  be positue
AJ = (j- COM()(,/u/\f* o{j IX or nzaah've
Slide |
Slidez
Slide 3

In e prnUs  EXTAS
. A a
A= Oome + |0,0MJ = |0.0m"
. u
R J

PR = )O,OMJ" ~S.me _I4,|,\U’“ = =St 1 ficom- 14,|M)j‘

= = Biml - 4.|mj

Warm Wl



}(,,

(

)

N hWo  dmeasions

Kinepahes

We  nzed 1o adap+ lmgua%
desnbt Mo~ dnensional  sihah ons,

Cansfcur an Olojed' Mov{/\ﬂ “ —JL.@
Y leg, We  cun te present tlg

Via

tre Jecl'orj
x(t) = horizental Posf Non \
| |
\; (]3 (tY= verhezl FOS"'HOO. ,/

o one - dimonsional  kinemalhics Ty

In Horal tealmnts | Hux oe comubined a4 gjrg[g posikon veclor

T = wi#) T s jmj

_r
vdo ety diedly uong X1ty It)
s beging with aveaye

velou by | wlich is  wonstucked 4y

e e—
-v—._,______h_‘-_(

Obseve g Objed‘a& Hoyp

‘"‘5’@\[E T ok fis Record
ewlior lates
Hime b, +Hme b,
horiz, pos  x(t,) x(t2)
arl, P05 j /t|5 \\-)['lq_)

; /_Rf N

] e aveoge veloa)h veckor me

{/ ‘L'WLE t, o bt 8
N
! =3 Ax A
\ \I;uemf% = _EE + AB

// /\““‘“ R S

[ = [ Form OUSP lecomont vector |\

\"-. [ '\
.\. I i . \

whare Ax =
A\d =Y (£ —ylu)

X!‘Ez)-— X[{:,S

‘\_ d‘j
N\
\



Warm. WP 2

SO% ~ 100%, § 95%

Wniz
Quizz 4% a
In order 1) CﬂPM& derzuls Of' Tt Veldc")_\j at- one  inslamt we

needd o loot over v y small T atervals . We  Hbon Get

’M instmtomecus VM of on Ob)'ed‘“ s 4 vecor W
Ax
ot — IIIMH' o )[,\ -+ “M\‘i’ é—é i
\ e -
Mo At-00
- d)( A Cl{‘] A
at -t ol
Nole, Hat
t) \ic?,\ocﬂlj s & Vechor \\
L )
\ = Vg U + Vy J
\ W hoe =27, Compor\ms are \
ohx | dy
k \/K - a-.'t VJ - a;-t >
Vel b R AR /
T ——a e .
Z) [the direchon A e thom')'g veckor v s lengad v
(

the H‘éjeof‘a@ vt Hhe  cirechon o Mohon

(Qu,ia}

3) e instontnoms pad s Mo magnimde of e elouity veutr

g

-

)



